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Phys 131
Spring 2025

Fundamental Mechanics: Group Exercise 2
31 January 2025

Names:

1 Rock launch épeed

A person, lying on their-back, throws a rock vertically from the ground. The rock reaches a

maximum height of 3.6m above the ground (about 12f5). We aim to determine the launch
speed and the time of flight of the rock.

a) First consider the launch speed. Sketch the situation, illustrating the rock at two key
instants. List all relevant variables at these instants.

b) Determine the launch speed of the rock.

¢) Now consider the time of flight. Again sketch the situation, illustrating the rock at two ,
key instants. List all relevant variables at these instants. Find teh time of flight.
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Motion n two dimensions
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